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L (ton) | (mm) | (kg)
HLC 1HE 1 0~25 3.0
HLC 2HE 2 0~30 5.5
HLC 2WHE 2 0~40 519
HLC 3HE 3 0~35 9.5
HLC 4HE 4 0~40 | 13.5
HLC 4WHE 4 125~60 | 19.0
HLC 6HE 6 0~45 | 23.0
HLC 6WHE 6 [25~65 | 29.0
HLC 8HE 8 [10~70 | 50.0
HLC 8WHE 8 [30~90 | 52.0
HLC 12HE 12 [20~80 | 70.0
HLC 12WHE| 12 [40~100| 72.0
Y
j

HLC 0.5U 0 0~25 3.2
HLC 1U 1 0~30 5.1
HLC 2U 2 0~35 8.7
HLC 3U 3 0~40 13.5
HLC 5U & 0~45 21.5
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= 4 (ton) = (mm) _'(_kg)
HPC 0.5N 0.5 0~35 1.0
HPC 1N 1 0~40 2.0
HPC 2N 2 0~50 4.5
HPC 3N 3 0~60 7.6
HPC 5N 5 0~80 17.0
)
A =
M= eSS
N\

2 ¥ SUOHL 2 7

=2 4 (ton) = (mm) # _'(_kg){I

GVC 0.35E 0.35 0~16 1.7

CHHZHHE, 1" T, LEZE) GVC 0.5E 0.5 0~20 2.6

il ad S ANt Mg GVC 1E 1 0~25 4.5
-7ZE Mg fmauz

CSL|HAF A2 MROoZ UM Irf GVC 2E 2 5~35 9.0
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2 g (ton) (mm) (kg)

HKC 0.5 0.5 0~20 3.4
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